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RE

B A AR . REERIEE I ITRSUEAR A A . EFR

F5 BRI TR Reathol | PG GEH B A 1A AL | R | BSBE | AN PEAS I B/iE
1 25 1B IL201 % E# WE—T &R 20124F 7] % m 81.51 1551.00 126,422.01
2 2SRRI IT301 = ESSaN WE—T T 20124 7] % m 81.51 1551.00 126,422.01
3 25 150401 % EH WE—T | iR 20124F &1 5 m’ 81.51 1480.50 120,675.56
4 2SR 1IIT601 % E WE—T iRl 20124F 5] 75 m 81.51 1339.50 109,182.65
5 25 1B IL602% EH WE—T &R 20124F 7] % o 81.51 1339.50 109,182.65
6 252601 E £ ==—T T 20124F 53] % o 110.30 1339.50 147,746.85
7 25 R 2506025 EH —=—T | "R 20124F &1 5 m’ 110.30 1339.50 147,746.85
8 253401 E =T TEIR 20124F 5] 75 m 110.30 1480.50 163,299.15
9 25 B3 L4025 EHR | HET | RER 20124F il R m’ 70.60 1480.50 104,523.30
10 2S5 B3 IT502'% ESSaN WE—T iRl 20124F 7] i m 70.60 1410.00 99,546.00
11 25 3B IL601E FIh =T &R 20124F 7] &5 m 110.30 1339.50 147,746.85
12 25 BE3HLIL602'% E WE—T iRl 20124F 5] 2 m 70.60 1339.50 94,568.70
13 3T R ILH01 = ER | HET | RER 20124F il R m’ 97.54 1410.00 137,531.40
14 ST IL601E £ WE—IT iRl 20124 2] 1 m 97.54 1339.50 130,654.83
15 IS IL602% EH WE—T &R 20124F 7] % g 99.12 1339.50 132,771.24
16 3ERE2 501 = FE WE—T iRl 20124F 5] 75 m 97.54 1410.00 137,531.40
17 3 e 2601 FHR WHE—T iR 20124F ] & m 97.54 1339.50 130,654.83
18 3EHE2E L6027 £ WE—IT iRl 20124F 5] % o 97.54 1339.50 130,654.83
19 3EHEIHIL601LE E# WE—T &R 20124F 3] % g 97.54 1339.50 130,654.83
20 3ERE3IL602% FE WE—T iRl 20124F 5] 75 m 99.12 1339.50 132,771.24
21 453502 E WE—T &R 20124F 7] % m 78.53 1410.00 110,727.30
22 23 ICI01E IES WE—IT iRl 20124 i3] m 110.30 1410.00 155,523.00
23 25 3T 302 i WE—T iR 20124 ki m 70.60 1551.00 109,500.60 | % & 4 {8 12
24 SEREIIT401 = e WE—T iRl 20124F £l g 97.54 1480.50 144,407.97 | LK%
25 33102 i E—JT | HEIR 20124 & m 99.12 1410.00 139,759.20
& it 2,300.12 3,220,205.25




Fi: AREBATHEEARER

&1l 2532 L1011 EREBHAE X

&5 T E 4 B | TEE | A FEEN| TEEE | RFE| THZE
L | Jﬁ.él‘ﬂﬁ)‘iiﬁ“i&#&a’é m 5. 200 5. 200 150 780.00 | 71% 553. 80
ETETEHRE N ERH m | 105.100 | 105. 100 120 12,612.00 | 71% 8,954. 52
ZRE LA m | 110.300 | 110. 300 40 4,412.00 | 71% 3,132.52
T A Ja) 3 | R m 18. 998 18. 998 100 1,899.80 | 71% 1,348. 86
9 | s Ef%%?ﬂﬁmﬂi m’ 28. 494 28. 494 150 4,274.03 | 71% 3,034. 56
EZTeNY £ m 11. 057 11. 057 300 3,316.95 | 71% 2,355. 03
VA e m 65. 400 65. 400 25 1,635.00 | 71% 1,160. 85
AR & m 65. 400 65. 400 35 2,289.00 [ 71% 1,625. 19
5 | 2 PVC & TR m 67. 438 67. 438 90 6,069.38 | 71% 4,309. 26
BB A RER BT m 42. 862 42. 862 120 5,143.49 | 71% 3,651. 88
s |lwok Eh%ﬁj‘é%& m 5. 400 5. 400 120 648.00 | 71% 460. 08
FH& & &R m 1.900 1.900 120 228.00 | 71% 161. 88
Bl = 16. 000 16. 000 30 480.00 | 71% 340. 80
B ERTUT = 1. 000 1. 000 150 150.00 | 71% 106. 50
T A& BB ITUT = 1. 000 1. 000 120 120.00 | 71% 85. 20
5 | TE N
Vi A 9. 000 9. 000 20 180.00 [ 71% 127. 80
15 %L 46 22 A~ 3. 000 3. 000 25 75.00 | 71% 53. 25
534 A 15. 000 15. 000 15 225.00 | 71% 159. 75
ELi A 1. 000 1. 000 1500 1,500.00 | 71% 1,065. 00
BB A 1. 000 1. 000 650 650.00 | 71% 461. 50
- it &= E 1. 000 1.000 1200 1,200.00 | 71% 852. 00
6 | 4zl Eh g A 1. 000 1. 000 90 90.00 | 71% 63. 90
N E‘w%ﬁ#ii m 6. 080 6. 080 900 5,472.00 | 71% 3,885. 12
HEMETRAAELGEE m 5. 950 5. 950 1200 7,140.00 | 71% 5,069. 40
BNEAE m’ 9. 143 9. 143 800 7,314.40 | 71% 5,193. 22
T m 10. 200 10. 200 700 7,140.00 | 71% 5,069. 40
B ] E 1. 000 1.000 750 750.00 | 71% 532. 50
)70 % m 5. 500 5. 500 120 660.00 | 71% 468. 60
7| F | BENE m 11.493 4. 000 350 1,400.00 | 71% 994. 00
AEEN] £ 5. 000 5. 000 1200 6,000.00 [ 71% 4,260. 00
ST EE m 21. 600 21. 600 180 3,888.00 | 71% 2,760. 48
i &%71@)%&%% bl 1. 000 1. 000 800 800. 00 800. 00
8 ;ﬁg = XY RE il 1.000 1. 000 500 500. 00 500. 00
O |Buke i 1.000 1.000 3500 3,500. 00 3,500. 00
A1t 92,542. 05 67,096. 85
Er GA RETE=EIL KT E XA40%+ I 37 B B R FHTE X60%.
N > — — y
MR 2: 2 5 B3 IE 302 E 5 B RS 41 3=
A . AR T E B A RVER
i R BAL | TREE | DR [P VR EAE R E| VEGEHE
| e LA (] B AR i m 3. 588 3. 588 110 394.63 | 68% 268. 35
BITE TSR G m’ 67.013 67.013 90 6,031.13 | 68% 4,101. 17
EWNEIKA m’ 70. 600 70. 600 45 3,177.00 | 68% 2, 160. 36
A ) 358 T U A m 7. 160 7. 160 85 608.60 | 68% 413. 85
2 WL | JB D s i m’ 18. 304 18. 304 85 1,555.84 | 68% 1, 057.97
i) m 0. 000 0. 000 25 0.00 | 68% 0. 00
TiM A S 2 m 0. 000 0. 000 35 0.00 | 68% 0. 00
5 | mm BT 5 i T m’ 5. 400 5. 400 80 432.00 | 68% 293. 76
| PAETE] TR m’ 3. 588 3. 588 100 358.75 | 68% 243. 95
4 lwe EMEH SR m 4. 990 4. 990 150 748.50 | 68% 508. 98
FMH & & &k m 1. 600 1. 600 100 160. 00 | 68% 108. 80




MR TUAT = 4,000 4. 000 120 480.00 | 68% 326. 40
5 | dTHE PEX A 5. 000 5. 000 25 125.00 | 68% 85. 00
15FL3 A 2.000 2. 000 30 60.00 | 68% 40. 80
R A 1. 000 1. 000 1200 1,200.00 | 68% 816. 00
g A% A~ ] 1.000 1. 000 500 500.00 | 68% 340. 00
6 %‘E%ﬁ i ES 1. 000 1. 000 900 900. 00 | 68% 612. 00
| JE m 6. 400 6. 400 800 5,120.00 | 68% 3, 481. 60
i JBf i dE e b
B AR T N KA ST m 7. 450 7. 450 1000 7,450.00 | 68% 5, 066. 00
Eh == 4E m 8. 320 8. 320 500 4,160.00 | 68% 2, 828. 80
A S . . . b .
T ESS 1. 000 1. 000 600 600.00 | 68% 408. 00
7 e el £ 2. 000 2. 000 850 1,700.00 | 68% 1, 156. 00
TATET] %= 1. 000 1. 000 750 750.00 | 68% 510. 00
L m 7.171 7.171 360 2,581.45 | 68% 1, 755. 39
YFKYE A% R T 1. 000 1. 000 800 800. 00 800. 00
HAth
8 f*—‘;’ﬂﬂ KBURE T 1. 000 1. 000 353 353. 00 353. 00
T (oK i 1. 000 1. 000 2000 2, 000. 00 2, 000. 00
a1 42, 245. 89 29, 736. 17

VE: ZRE G R =H0 BT R x40%+ B 3 Bh 22 1 R x60%

P23 : 351 5 I0401 = b5 R 3B B4l %

ZAE)5 . WS T & E N R

F5 i H 4% B | TREE | DUSESE [T VM EE RO TEHEIHE
| A= ) 95 1 Hb AR B m 4,000 4,000 150 600.00 | 84% 504. 00
BT AT S B R A% m 93. 540 93. 540 100 9,354.00 | 84% 7, 857. 36
EEIPNE] m 97. 540 97. 540 45 4,389.30 | 84% 3, 687.01
A () R T G m 16. 110 16.110 100 1,611.00 | 84% 1, 353. 24
2 T | BT e 4t T G A m 31. 675 31.675 120 3,801.00 | 84% 3, 192. 84
R B 2k m 59. 380 59. 380 25 1,484.50 | 84% 1, 246. 98
it eR =24 m 59. 380 59. 380 35 2,078.30 | 84% 1,745.77
N JBF J5 i Th m 11. 280 11. 280 130 1, 466.40 | 84% 1,231.78
" B T m 13. 720 13. 720 130 1,783.60 | 84% 1, 498. 22
4 |wak B H Gk m 3. 600 3. 600 200 720.00 | 84% 604. 80
M FH& & &R m 2. 850 2. 850 150 427.50 | 84% 359. 10
4T = 16. 000 16. 000 20 320.00 | 84% 268. 80
AR T R T T = 1. 000 1. 000 300 300.00 | 84% 252. 00
5 | arm % A 8. 000 8. 000 20 160. 00 | 84% 134. 40
T [54LIE A 13. 000 13. 000 20 260.00 | 84% 218. 40
15FL37 A 1. 000 1. 000 30 30.00 | 84% 25. 20
20FL3 B A 1. 000 1. 000 50 50.00 | 84% 42.00
¥ A 1. 000 1. 000 2200 2,200.00 | 84% 1, 848. 00
W A 1. 000 1. 000 650 650.00 | 84% 546. 00
Ly |[BEERE %= 1. 000 1. 000 1700 1,700.00 | 84% 1, 428. 00
iwH J&t 5 pEt A 7. 600 7. 600 900 6,840.00 | 84% 5, 745. 60

6 %Dﬂﬁ,—j 5y 75 D m . . 5 . 0 5 .
Wi JB E MEAE T e ORI S m 7. 620 7. 620 1200 9,144.00 | 84% 7, 680. 96
Fil 2= 4 m’ 9.073 9.073 650 5,897. 13 | 84% 4,953. 59
KAk m 6. 000 6. 000 450 2,700.00 | 84% 2, 268. 00
PAR 1. 3%0. 5 A 1. 000 1. 000 350 350.00 | 84% 294, 00
1 ENEl] %= 2.000 2. 000 1200 2,400.00 | 84% 2, 016. 00
7 by A = 1. 000 1. 000 850 850.00 | 84% 714. 00
Bk A m 12. 633 12. 633 360 4,547.70 | 84% 3, 820. 07
I N S 3 i 1. 000 1. 000 2000 2, 000. 00 2, 000. 00




FLI

8 e FKBURIE T 1. 000 1. 000 500 500. 00 500. 00
T i 1. 000 1. 000 3500 3, 500. 00 3, 500. 00
=a1h 72,114.43 61, 536. 12
VE: ZRE G R =0 BT R x40%+ B 3 Bh 82 1 R x60%
O Y == = 2 1&
IR 4: 35HE3BAIL102E = /=B E &R
T AETECTHESE AR
5 i H A B | TREE | DUSESE [T VM EE RO THEIHE
V| AR ) 95 9 Hb AR B m 4,000 4,000 150 600.00 | 71% 426. 00
BT T S B R R A% m 95. 120 95. 120 80 7,609.60 | 71% 5, 402. 82
EEIPNE| m’ 99. 120 99. 120 40 3,964.80 | 71% 2,815.01
A () R T G m 17. 950 17. 950 100 1,795.00 | 71% 1, 274. 45
JEt 5 5 T M m 44. 096 44. 096 95 4,189.12 | 71% 2,974. 28
2 T[T M S m 12. 250 12. 250 150 1,837.50 | 71% 1, 304. 63
T RIS 2 m 48. 000 48. 000 25 1,200.00 | 71% 852. 00
BE5HAES m 48. 000 48. 000 35 1,680.00 | 71% 1, 192. 80
AR m | 150.000 | 150.000 65 9,750.00 | 71% 6, 922. 50
PVC I T m 80. 000 80. 000 45 3,600.00 | 71% 2, 556. 00
3| M| AR IR T I m 4. 500 4. 500 130 585.00 | 71% 415. 35
B iR T m 23.027 23. 027 90 2,072.39 | 71% 1,471. 39
4 W%ﬁﬁbz&;’@‘a*ﬁ m 3. 600 3. 600 150 540.00 | 71% 383. 40
M s m e m 1.870 1.870 100 187.00 | 71% 132.77
[EES) = 16. 000 16. 000 20 320.00 | 71% 227. 20
5 | 4ra R A 5. 000 5. 000 25 125.00 | 71% 88. 75
T[Sl A 10. 000 10. 000 20 200.00 | 71% 142. 00
LA A 2.000 2.000 30 60.00 | 71% 42. 60
Rt A 1. 000 1. 000 2500 2,500.00 | 71% 1, 775. 00
. i A~ ] 1.000 1. 000 650 650.00 | 71% 461. 50
) %‘Em i £ 1. 000 1. 000 1100 1,100.00 | 71% 781. 00
*E” JBf e m 5. 400 5. 400 900 4,860.00 | 71% 3, 450. 60
B AR T R KA ST m 7.970 7.970 1200 9,564.00 | 71% 6, 790. 44
Eh == AE m’ 16. 500 16. 500 650 10,725.00 | 71% 7,614. 75
T %= 1. 000 1. 000 750 750.00 | 71% 532. 50
7 rﬁuﬁ@‘juéﬁ m 5. 500 5. 500 120 660.00 | 71% 468. 60
ENE] ESS 2. 000 2.000 1300 2,600.00 | 71% 1, 846. 00
BAE] = 1. 000 1. 000 950 950.00 | 71% 674. 50
8 | BERE |IT m’ 6.375 6. 375 700 4,462.50 | 71% 3, 168. 38
i W KYE AR I 1. 000 1. 000 300 300. 00 300. 00
9 ;“—éﬁ% KBRS B} 1. 000 1.000 495. 6 495. 60 495. 60
T Bk i 1. 000 1. 000 3500 3, 500. 00 3, 500. 00
&1t 83, 432.51 60, 482. 80

VE: SEA BOHT R = R0 BUHT R x40%+ 3037 5 52 AT 26 x60% .




